FK,

Finol Review

To the Test — be sure to bring:

(1) your personally-prepared 8 % “ by 11” study guide for this test
(2) your simple, non-graphing calculator
(3) your pencils

(4} your BluGold ID

1. Add or subtract. Write the answer in lowest terms.
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2. Evaluate.

205+2(7—4)*1-3(2)
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3. Solve and check the equation for the value of y:

54=48y+10-3y-6 |\ Lk doweens
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4. Solve and check the equation for the value of m :

~ ~
Sm—(Tm+9)+4=19m+5(1-4m)

el SmoTm -9 +4=19m+ S5-20m
: ( _ - A
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5. Write the main equation for solving this problem and then solve.
The sum of two consecutive integers is 89. Find the integers.

X vl = %7

nl = 868

= E3 T h ong
Z =4y 44 amd 4 5.

irl =95

6. Write the main equation for solving this problem and then solve. You may find using the

table helpful.

How many milliliters (mL) of a 12% alcohol solution must be added to 50 mL of a 3% alcohol
solution to make a 8% alcohol solution? Express your answer as a mixed number if necessary.

Equation:

L) AA C)B(SO)
Remouv e  Aefireaads ,mw’u‘lf\vlﬂ b.(,)fQ@

Qg(nvt-So)

129 +3(s0) = 8 (x+SO) n |
= +» 40 m % solution
| 2%+ 350 :87‘* L{S%
- XA W2 | L2 %
2 = g% +250 S0 .02 | .03(5¢)
> = gy 2+36] .08 .05 (x}50)
"_8% —Youranswer: Add éQb mL of the 12% alcohol solution.
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7. ldentify a sécond point on a line that contains the point (-2, 3) and has a slope of

:é e rise u}»wép ;m %ﬁ
" 4 Poun*?(:ze’) = ‘;/é?/ ﬂ&h»@ﬁ%&em%
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e (-2,3)
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8. Given the standard form of the equation of aline: 3x+y=6 sloea MJ@X
Give the slgpe-interceptform of the line and state the y-intercept point. \6 28 Y < b
Graph the line: ECO'M | (é-—' _ 3%\%_(0 .
: Slopt (O, bp\om%“
§\ [ Z,OBF?JL = ".,.3;-
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$ ity = (0, b)
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. down 3 ) A
S}x:mo.\‘i&
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9. Identify the equation of the line, if possible, in slope-intercept form, given the following
information. The line contains (1,0) and (5,-6).
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10. Let f(x)=-12x+7.Find f(2)
$(2)=-12(R)+N
§(2) = =24 +7

ErD)

11. Let f(x)=—%x—3. Find x so that f(x)=_1,
B Sox)s =313 ama S0zl Thegn Vo %o

ki ply el teAre \‘%J‘:j 2%
T A He Amom naton

~tx(2)=3(a)z -] (2)
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12. Solve the system using the substitution method. Be sure to show your work.

(Points will be deducted for Using the Wrong method.)

x+3y=-12 l%\ﬂj“@‘ ©ng Solution point:  (x, ) ={( (O .-6)
Y j

3x+4y=—6 > X =-3y -l

7= 2SN Foul

-9y iézt T Yzl

2 = 20 -
13. Develop the equations you need to solve this problem, list them, and solve the problem.
R.J. inherited $20,000 and puts some of it into an account earning 4% simple interest and
the rest in an account earning 7% simple interest. He earns a total of $1130 in interest after

a year. How much did he deposit into each account?

-
—
R.J. invested $ 2 652) in the 4% account and $ / / 550 in the 7% account.

.0U% +.07(20000 =2) = /130 b 10D

£ | Do\ mt reonlacom ) =
A Yo +7 (200 -2) =113000
Y+ 140 000 ~TX =)1/3600
— 2 + 190000 =)130080 &Y%
112060 = -/)3000 \L
- 27000 = 0O _
2800 amd SO 4274 + Al +3% C}@D~%
T& 20,600 2 Ly ) qom: -
_ ok Y9 thun 20,000 , o T2
? ke ,\,4.’7‘2_7\

will Yaw o 77 Yo
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14. Simplify. e Ol

15. Simplify. Assume all variables represent nonzero real numbers. The answer should not

contain negative exponents. ey QWP 3&" %% ( )M

‘LQ Qe
(7& J= 12a°b* o bq A b‘“*
3 +% 19 bg
/Remem\b“w |
16. Find the product. (4m )— —5m* )
Hhon enosod

17. Find the product. (37’1 + 9)2 = <’3> m 9 )

o

QR #2370 +27n + 8

CREIED

18. Find the greatest common factor.

36wy’ —9wy® +18wy”
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actor completely. . amo O
19. Fact pletely " a0 = ’54 +Zp
x* —3x—54 men = o2 71
Z-9) (2+&)
(1-9) (2+6)
20. Factor completely by grouping. WMM ) sfb,uo NPT |
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Su Do Une 87 L,
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5¢ (% c-2K \) "QK< 3¢-8 K> Yookon oudy Fha teruesln CJe
(’5(.-'%\ (5C“QK>
v RTEIN WW

21. If there is more than one answer, separate them with commas.

Solve the equation: 125> +96s =0 -FO\-@“\ ot He GG F

)= O
125 (sv9) Wnd ZoAp PWW%
2s=0 =870, |
N T
3= 0O
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22. If there is more than one answer, separate them with commas.

Solve the equation: 210w+ 280 = —35w? )Qﬁ% g, Q%u@»@‘r\ Q"i Q«
= sue He FY veum
33w%¢ggyo+%§§~43 Mokt s T,

=< s 335 37 b peeidiue -
S 3

ee o R
Qe ot W low % O

23. Write the following rational expression in its lowest terms.

8d-2  _ g(Hd%LLﬂ - e
284 -7 W&Z‘) “

jon P ¢

24. Multiply. Be sure to simplify your answer.

Ql%B)(ﬂ+93 §5ochﬂ‘%5@%
7120427 9 P eduas
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25. Find the sum. Simplify if possible. ) mnm;di;éw
- (erdeume. oMLY °

d* +67 5-17d v o e 70
(d—4)(d—9)+(d—4)(d—9) = o119 n ow su the,
| (a-4) (a-9) nuwranedion | F

o wmlu_,

(s (3fa) oy ekl

-¥ Lmu« ”{‘3%“
22 ST e
-4 carume
Y. V22 =
26. Divide and simplify if possible. - .
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27. Solve for the value of 57:
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28. Develop the proportion needed to solve this problem. List it and then solve the problem.
With a current flowing at 25 mph, a boat can travel 35 mi with the current in the same
amount of time it can go 12 mi against the current. Find thé)‘s%gé’é\of the boat in still water.

[d=r*t] A ‘ down W
S ot STagre s
. r A~ A
Proportion: = = =
BonT geiad o (LA FPER
SV PEN
The speed of the boat in still water is approximately mph.
N
a°w"?>5 UTQ\ QSN oo dmw-m
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2+ 25 B -2 00T - UMW el =
Spee

. Spud
25 (e=253) = 12 ( E)“*”Q‘S>

25% — 1S = 1A B+ 300
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Qi;%" e 23

1

22 /)_7? = %}, 086 a0

-29. Find the square root, if possible. Express your answer as a simplified, improper fraction, if
necessary.

6 _ e - L
169 coa \ D



FRio

30. Rewrite with a positive exponent and evaluate. Express your answer as a simplified,

improper fraction, if necessary. - A %
= - Q.
) X 2 a P = ¥

_5 g pOARLT

—h = |
A 2 k

31. Simplify completely. Assume all variables represent positive real numbers. The answer
should contain only positive exponents.

az X apedy Hha e oot

g
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X 2x—-4
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33. Perform the indicated operation and simplify. Assume all variables represent positive real

numbers.

tombine wnlus 6Me J

V340 e/21ab>

Jeran bt
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34. Perform the operation and simplify.

2\/— \/—+3x/70_

3 (55 - (T~ 3 (70
o ~am x0T

35. Solve for the value of b using the quadratic equation!!
PR

S‘,Qbi u)m\z;me 200 t O

(2b-3)* =11 L p
@b-2)(3k-2) =115 O ::<0"’;f:'2 ’
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Ghr-12b = A= Olaumby 2 (3t
26 —lb—] =0 78
oL L = _(=G)E JEGE)T 4 @2)61)

h=-le 2 (2) }
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36. Develop the equation you need g solve this problem, list it, label the picture, and solve the
problem. )
The height of a wide-screen TV is 8 inches less
than its length. The diagonal of the

rectangular screen is 8 inches more than the L8 ~\ij ]
length. Find the height of the screen.

Equatlon

S (L 8 (L+g ; Height: QZ inches
L+§Z[ ioL“?/q Mﬁ"“'&’“‘%

L mioﬁﬁL HOL' L= 32
Lt -2aL =0 %}—gs%_;fzw
W
L (L-32)=0 = o4
37. Write the solution in interval notation: .
—2<3k-8<1 2R
- !
—n £3K-8 &
- 25K-8 & | e e
¢ 31<+§/ e 9 2 3

’ 38. Add or subtract as indicated.

|~10+4[+3]|-8—(-11)]|

s oy

AT AEE LN
b +3:3
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39. Find the mean, median, and mode for the following set of values

80, 93, 87, 85, 98, 89, 87, 83

MeAan 4§ Som ﬁgmb@gc“ﬁs)cilox&& bfj AU M e oﬂotﬁﬁ‘m
sSuUm =

T T WO% C{'ﬁ‘“" £7.15)
(2

Mepian) &6 MiIPHLE PO bt
p Lo VO AL o Gt
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40. Find the area of the shaded portion:

TEEE om0}, Long astonghs
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41. What is the perimeter of this indoor track? What is its surface area?
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